Valeur du

Temps (mois) | Temps (années) Calcul Placement ($) Equation générale
Plan A
0 0 15000(1,06)° 15000
12 1 15000(1,06)" 15900 15000(1,06)"
24 2 15000(1,06)* 16854
Plan B
0 15000(1,03)° 15000
Y 15000(1,03)" 15450 0.06\”
12 1 15000(1,03)° 15913,5 15000(“ ’ )
18 1% 15000(1,03)° 16390,91
24 2 15000(1,03)* 16882,63
Plan C
0 0 15000(1,01)° 15000
2 Ye 15000(1,01)" 15150
4 s 15000(1,01)* 15301,5
6 iz 15000(1,01)° 15454,52
8 2/ 15000(1,01)* | 15609,06
10 e 15000(1,01)° | 15765,15 0.06\"
12 1 15000(L01)° | 15922,80 15000(“ ’ )
14 1Y 15000(1,01)" |  16082,03
16 1 15000(1,01)° |  16242.85
18 1% 15000(1,01)° 16405,28
20 1%, 15000(1,0D)"° |  16569,33
22 1°/s 15000(1,0)" | 16735,03
24 2 15000(1L,0D" | 16902,38




